



Azadi ka 07 1 1 2 9/2022 - 23 dt : 28/2/2023

Sanction No: 511687783424455 Sanction Date: 21-Feb-2023

Sanction of the competent authority is hereby conveyed for incurring an expenditure of amount as under towards the cost of Purchase order/Contract placed on the Seller for Supply of Goods/Services as per the contract for making payment to the Seller subject to deduction of TDS as applicable:

Organisatio	on Details	Buyer Details	A-07/2018-19/Pt
Type:	Central Autonomous	Name:	Euginia Winty Nora Malngiang
,,		Designation:	Incharge Central Stores
Ministry:	Ministry of Health and Family Welfare	Email ID:	bycon22.neigrihms.ml@gembuyer.in
Department:	Department of Health and Family Welfare	Email ID:	byconzz.neignnis.nii@genibuyer.iir
	North Eastern Indira Gandhi Regional Institute of Health and	GSTIN:	
	Medical Sciences (NEIGRIHMS)		P.O. NEIGRIHMS, Mawdiangdiang, Shillong
	Neigrihms, Shillong	Address:	EAST KHASI HILLS MEGHALAYA - 793018

Financial Approval Detail C -	580	(3)	12022-23	s, dt: 9/1	2/2023
-------------------------------	-----	-----	----------	------------	--------

Designation of official providing Administration approval:

IFD Concurrence / Competent Authority (HOD / Head of Office) Approval

Required?

Budget availablity

Designation of official providing Financial approval:

Director

YES

YES

Deputy Director File No: A-07/18-

19/Pt

- Juecelete

Seller Details

Company Name:

Email ID:

Address:

VIKAS MEDICAL DEVICES

vikas@vikasmedical.com

VIKAS MEDICAL DEVICES Kolkata

West Bengal - 700020

Product Details

CENTRAL STORE NEIGRIHMS, SHILLONG

(1) El Averthen / Dr Brycele / Dr Spice DDA & / DRA & AO Morley DDA & / DRA & AO Morley Bris / Dry / BME / Ele IN Albrew / res Lych On Renew of reflecal

On Renew of reflecal

NEIGRIHMS, Shillong-793018

#'	Item Description	Model	Ordered Quantity	Unit	Price per Unit inclusive of all Duties and Taxes (in INR)	Total Price (inclusive of all Duties and Taxes (in INR))
1	NIBP Cuff - Adult	NIBP Cuff - Adult	15	pieces	1764.0	26460.0
2	Oxygen Sensor	Oxygen Sensor	6	pieces	30240.0	181440.0
3	ECG Leads	ECG Leads	10	pieces	11760.0	117600.0
4	SPO2 Probe Ped - Mindray	SPO2 Probe Ped - Mindray	7	pieces	8820.0	61740.0
5	SPO2 Probe Adult - Mindray	SPO2 Probe Adult	12	pieces	8820.0	105840.0
6	SPO2 Probe Adult - Masimo	SPO2 Probe Adult	6	pieces	59388.0	356328.0
7	NIBP Cuff - Small Infant	NIBP Cuff - Small Infant	22	pieces	1764.0	38808.0
8	SPO2 Probe Adult - Nellcor	SPO2 Probe Adult	10	pieces	39200.0	392000.0
9	NIBP Cuff - Infant	NIBP Cuff - Infant	17	pieces	1764.0	29988.0
10	SPO2 Probe Neonatal - Nellcor	SPO2 Probe - Neonatal	5	pieces	41748.0	208740.0
11	NIBP Cuff - Child	NIBP Cuff - Child	22	pieces	1764.0	38808.0
12	SPO2 Probe Ped - Masimo	SPO2 Probe Ped	6	pieces	44800.0	268800.0
Tota	l Order Value (in INR)					1826552.0

Consignee Details

CENTRAL STORE NEIGRIHMS. SHILLONG

NEIGRIHMS. Shillow 9-793018

S:No	Consignee	Item	Lot No.	Quantity	Delivery Start After	Delivery To Be Completed By
		Oxygen Sensor	-	6	21-Feb-2023	23-Mar-2023
		SPO2 Probe Adult - Mindray	-	12	21-Feb-2023	23-Mar-2023
		NIBP Cuff - Small Infant	-	22	21-Feb-2023	23-Mar-2023
		NIBP Cuff - Infant		17	21-Feb-2023	23-Mar-2023
	Khrawkupar Jithod Katrai con18.neigrihms.ml@gembuyer.in P.O. NEIGRIHMS, Mawdiangdiang, Shillong EAST KHASI HILLS MEGHALAYA - 793018	NIBP Cuff - Child	-	22	21-Feb-2023	23-Mar-2023
		NIBP Cuff - Adult	-	15	21-Feb-2023	23-Mar-2023
1		SPO2 Probe Ped - Mindray	-	7	21-Feb-2023	23-Mar-2023
		SPO2 Probe Adult - Masimo	-	6	21-Feb-2023	23-Mar-2023
		SPO2 Probe Adult - Nellcor	-	10	21-Feb-2023	23-Mar-2023
		SPO2 Probe Neonatal - Nellcor	-	5	21-Feb-2023	23-Mar-2023
		SPO2 Probe Ped - Masimo	-	6	21-Feb-2023	23-Mar-2023
		ECG Leads	-	10	21-Feb-2023	23-Mar-2023

Terms & Conditions

Storekeeper 793018
NEIGRIHMS, Shillong-793018

• 1. This issues under the power delegated to Ministries/Department of the Government of India/organization/state vide Annexure to schedule V of the Delegation of Financial Power Rules, 1978 as amended from time to time or as per applicable delegation of financial power rules as approved and amended time to time by the competent authority of the buyer organization.

Note: This is system generated file. No signature is required. Print out of this document is not valid for payment/ transaction purpoge.

CENTRAL STORE NEIGRIHMS, SHILLONG

Liturator

Contract | अनुबंध



aui _{Ka} ^{it} Mahotsav

Contract No | अनुबंध क्रमांक: GEMC-511687783424455

Generated Date | अनुबंध तिथि: 21-Feb-2023

Bid/RA/PBP No.|बोली/आरए/पीबीपी संख्या: <u>GEM/2022/B/2582123</u>

Schedule Name। अनुसूची नाम:Schedule 1,Schedule 10,Schedule 11,Schedule 12,Schedule 13,Schedule 14,Schedule 15,Schedule 18,Schedule 19,Schedule

20,Schedule 17,Schedule 21 07/G - 12 5 9 2022-23, dt: 28/2/2023

Organisation Details |संगठन विवरण

Type। प्ररूप :

Central Autonomous

Ministry|मंत्रालय : Department | विभाग : Ministry of Health and Family Welfare Department of Health and Family Welfare

Organisation Name

North Eastern Indira Gandhi Regional Institute of Health and

Office Zone | कार्यालय

Medical Sciences (NEIGRIHMS)

क्षेत्र:

Neigrihms, Shillong

Buyer Details | खरीदार विवरण A - 07 / 2018 - 19 / Pt

Designation | पद :

Incharge Central Stores

Contact No. | संपर्क नंबर :

0364-2538044-210

Email ID|ईमेल आईडी :

bycon22.neigrihms.ml@gembuyer.in

GSTIN|जीएसटीआईएन:

Address | पता :

P.O. NEIGRIHMS, Mawdiangdiang, Shillong, EAST KHASI HILLS, MEGHALAYA-793018, India

Financial Approval Detail | वित्तीय स्वीकृति विवरण

IFD Concurrence | आईएफडी सहमति :

Designation of Administrative Approval

Director

प्रशासनिक अनुमोदन का पदनाम:

Designation of Financial Approval Deputy Director File No: A-07/18-19/Pt वित्तीय अनुमोदन का पदनाम:

Paying Authority Details | भुगतान प्राधिकरण विवरण PAO Payment Mode | भुगतान का

तरीका:

Designation | पद :

A Accounts officer

Email ID|ईमेल आईडी : GSTIN । जीएसटीआईएन : accounts.neigrihms@nic.in

Address पताः

P.O. NEIGRIHMS, Mawdiangdiang, Shillong, KHASI HILLS EAST, MEGHALAYA-793018, India

c-580(0)/2022-23, dt: 9/12/2023

Seller Details | विक्रेता विवरण

GeM Seller ID | जेम विक्रैता आईडी :

DAAC180000312902 VIKAS MEDICAL DEVICES

Company Name | कंपनी का नाम : Contact No. | संपर्क नंबर :

09830083091

Email ID | ईमेल आईडी :

vikas@vikasmedical.com

Address | पता :

1ST FLOOR, Siddharth, 29, Dr. Rajendra Road, Bhawanipur, Kolkata, West Bengal-700020, -

MSME verified | एमएसएमई सत्यापित : MSME Registration number|एमएसएमई पंजीकरण संख्या :

Yes

MSE Social Category | एमएसई सामाजिक श्रेणी :

UDYAM-WB-10-0026187

MSE Gender | एमएसई लिंग श्रेणी :

General

GSTIN|जीएसटीआईएन:

19AADFV8788P1ZV

*GST / Tax invoice to be raised in the name of|जिसके नाम के पक्ष में GST/TAX इनवॉइस पेश किया जाएगा - Buyer

Product Details | उत्पाद विवरण

#	Item Description आइटम विवरण	Ordered Quantity आइटम विवरण	Unit इकाई	Unit Price (INR) इकाई मूल्य (INR)	Tax Bifurcation (INR) कर विभाजन (INR)	Price (Inclusive of all Duties and Taxes in INR) मूल्य (INR में सभी शुल्क और कर सहित)
1	Product Name उत्पाद का नाम : NIBP Cuff - Adult Brand ब्रांड : MINDRAY / P. R. CHINA Brand Type ब्रांड प्रकार : Unbranded Catalogue Status कैटलॉग की स्थिति: Catalogue not verified by OEM Selling As कैसे बेचा जा रहा है : Reseller not verified by OEM Category Name & Quadrant श्रेणी का नाम और चतुर्याश : BOQ (Q3) Model मॉडल: NIBP Cuff - Adult HSN Code एचएसएन कोड: 9019	15	pieces	1,764	NA	26,460
2	Product Name उत्पाद का नाम: Oxygen Sensor Brand ब्रांड: MINDRAY / P. R. CHINA Brand Type ब्रांड प्रकार: Unbranded Catalogue Status कैटलॉग की स्थिति: Catalogue not verified by OEM Selling As कैसे नेचा जा रहा है: Reseller not verified by OEM Category Name & Quadrant श्रेणी का नाम और चतुर्याश: BOQ (Q3) Model मॉडल: Oxygen Sensor HSN Code एचएसएन कोड: 9019	6	pieces	30,240	NA	181,440
3	Product Name उत्पाद का नाम : ECG Leads Brand ब्रांड : MINDRAY / P. R. CHINA Brand Type ब्रांड प्रकार : Unbanded Catalogue Status केटलॉग की स्थिति: Catalogue not verified by OEM Selling As केले ब्रिज्जुलाई केटलॉग की स्थाति:	10	pieces	11,760	NA INCHARG	117,600 ORE

DILIMS. Shilloug-793018

	Category Name & Quadrant श्रेणी का नाम और चतुर्थाश्च : BOQ (Q3) Model मॉडल: ECG Leads HSN Code एचएसएन कोड: 9019						
1	Product Name उत्पाद का नाम : SPO2 Probe Ped - Mindray Brand ब्रांड : MINDRAY / P. R. CHINA Brand Type ब्रांड प्रकार : Unbranded Catalogue Status कैटलॉग की स्थिति: Catalogue not verified by OEM Selling As कैसे बेचा जा रहा है : Reseller not verified by OEM Category Name & Quadrant श्रेणी का नाम और चतुर्थाश : BOQ (Q3) Model मॅडल: SPO2 Probe Ped - Mindray HSN Code एचएसएन कोड: 9019	7	pieces	8,820	NA		61,740
	Product Name उत्पाद का नाम : SPO2 Probe Adult - Mindray Brand ब्रांड : MINDRAY / P. R. CHINA Brand Type ब्रांड प्रकार : Unbranded Catalogue Status कैटलॉग की स्थिति: Catalogue not verified by OEM Selling As कैसे बेचा जा रहा है : Reseller not verified by OEM Category Name & Quadrant श्रेणी का नाम और चतुर्याद्य : BOQ (Q3) Model मॉडल: SPO2 Probe Adult HSN Code एचएसएन कोड: 9019	12	pieces	8,820	NA		105,840
5	Product Name उत्पाद का नाम : SPO2 Probe Adult - Masimo Brand बांड : MINDRAY / P. R. CHINA Brand Type ब्रांड प्रकार : Unbranded Catalogue Status कैटलॉग की स्थिति: Catalogue not verified by OEM Selling As कैसे बेचा जा रहा है : Reseller not verified by OEM Category Name & Quadrant श्रेणी का नाम और चतुर्थाश : BOQ (Q3) Model मॉडल: SPO2 Probe Adult HSN Code एचएसएन कोड: 9019	6	pieces	59,388	NA		356,328
7	Product Name उत्पाद का नाम : NIBP Cuff - Small Infant Brand ब्रांड : MINDRAY / P. R. CHINA Brand Type ब्रांड प्रकार : Unbranded Catalogue Status कैटलॉग की स्थिति: Catalogue not verified by OEM Selling As कैसे बेचा जा रहा है : Reseller not verified by OEM Category Name & Quadrant श्रेणी का नाम और चतुर्याश : BOQ (Q3) Model गॉडल: NIBP Cuff - Small Infant HSN Code एचएसएन कोड: 9019	22	pieces	1,764	NA		38,808
3	Product Name उत्पाद का नाम : SPO2 Probe Adult - Nellcor Brand ब्रांड : MINDRAY / P. R. CHINA Brand Type ब्रांड प्रकार : Unbranded Catalogue Status कैटलॉग की स्थिति: Catalogue not verified by OEM Selling As कैसे बेचा जा रहा है : Reseller not verified by OEM Category Name & Quadrant श्रेणी का नाम और चतुर्याश : BOQ (Q3) Model गॉडल: SPO2 Probe Adult HSN Code एचएसएन कोड: 9019	10	pieces	39,200	NA		392,000
,	Product Name उत्पाद का नाम : NIBP Cuff - Infant Brand ब्रांड : MINDRAY / P. R. CHINA Brand Type ब्रांड प्रकार : Unbranded Catalogue Status कैटलॉग की स्थिति: Catalogue not verified by OEM Selling As कैसे बेचा जा रहा है : Reseller not verified by OEM Category Name & Quadrant श्रेणी का नाम और चतुर्थाश : BOQ (Q3) Model मॉडल: NIBP Cuff - Infant HSN Code एचएसएन कोड: 9019	17	pieces	1,764	NA		29,988
10	Product Name उत्पाद का नाम : SPO2 Probe Neonatal - Nellcor Brand ब्रांड : MINDRAY / P. R. CHINA Brand Type ब्रांड प्रकार : Unbranded Catalogue Status कैटलॉग की स्थिति: Catalogue not verified by OEM Selling As कैसे बेचा जा रहा है : Reseller not verified by OEM Category Name & Quadrant श्रेणी का नाम और चतुर्थाश : BOQ (Q3) Model मॉडल: SPO2 Probe - Neonatal HSN Code एचएसएन कोड: 9019	5	pieces	41,748	NA		208,740
11	Product Name उत्पाद का नाम : NIBP Cuff - Child Brand ब्रांड : MINDRAY / P. R. CHINA Brand Type ब्रांड प्रकार : Unbranded Catalogue Status कैटलॉग की स्थिति: Catalogue not verified by OEM Selling As कैसे बेचा जा रहा है : Reseller not verified by OEM Category Name & Quadrant श्रेणी का नाम और चतुर्थाश्च : BOQ (Q3) Model मॅडिल: NIBP Cuff - Child HSN Code एचएसएन कोड: 9019	22	pieces	1,764	NA		38,808
12	Product Name उत्पाद का नाम : SPO2 Probe Ped - Masimo Brand ब्रांड : Indigenous Brand Type ब्रांड प्रकार : Unbranded Catalogue Status कैटलॉग की स्थिति: Catalogue not verified by OEM Selling As कैसे बेचा जा रहा है : Reseller not verified by OEM Category Name & Quadrant श्रेणी का नाम और चतुर्याश : BOQ (Q3) Model मॉडल: SPO2 Probe Ped HSN Code एचएसएन कोड: १५११)	6	pieces	44,800	NA G	MULAN ANCHARG ENTRAL ST RIHMS, SHI	E 268,800 OKL

Storekeeper TMS Shilloug-793018

-thmore

Total Order Value | कुल ऑर्डर मूल्य (in INR)

1,826,552

Consignee Detail | परेषिती विवरण

S.No क्र.सं.	Consignee परेषिती	Item वस्तु	Lot No. लॉट नंबर	Quantity मात्रा	Delivery Start After दिनांक के बाद डिलीवरी शुरू करना है	Delivery To Be Completed By वितरण पूरा कब तक करना है
		Oxygen Sensor	-	6	21-Feb-2023	23-Mar-2023
		SPO2 Probe Adult - Mindray	_	12	21-Feb-2023	23-Mar-2023
		NIBP Cuff - Small Infant	-	22	21-Feb-2023	23-Mar-2023
	Designation पद : - Email ID ईमेल आईडी : con18.neigrihms.ml@gembuyer.in Contact संपर्क : 0364-2538044- GSTIN जीएसटीआईएन : - Address पता : P.O. NEIGRIHMS, Mawdlangdlang, Shillong, EAST KHASI HILLS, MEGHALAYA-793018, India	NIBP Cuff - Infant	-	17	21-Feb-2023	23-Mar-2023
		NIBP Cuff - Child	-	22	21-Feb-2023	23-Mar-2023
		NIBP Cuff - Adult	-	15	21-Feb-2023	23-Mar-2023
1		SPO2 Probe Ped - Mindray	-	7	21-Feb-2023	23-Mar-2023
		SPO2 Probe Adult - Masimo		б	21-Feb-2023	23-Mar-2023
		SPO2 Probe Adult - Nellcor		10	21-Feb-2023	23-Mar-2023
		SPO2 Probe Neonatal - Nellcor	-	5	21-Feb-2023	23-Mar-2023
		SPO2 Probe Ped - Masimo	-	6	21-Feb-2023	23-Mar-2023
		ECG Leads	-	10	21-Feb-2023	23-Mar-2023

Specification | विनिर्देश 1

Specification Document | विशिष्टता दस्तावेज़

Buyer BOQ Document | क्रेता बीओक्यू दस्तावेज़

Compliance of BOQ Specification And Supporting Document|बीओक्यू विशिष्टता और सहायक दस्तावेज का अनुपालन

Note | Equil:: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

Specification | विनिर्देश 2

Specification Document | विशिष्टता दस्तावेज्

Buyer BOQ Document | क्रेता बीओक्यू दस्तावेज़

Compliance of BOQ Specification And Supporting Document बिओक्यू विशिष्टता और सहायक दस्तावेज का अनुपालन

Note | दिपाणी:: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

Specification | विनिर्देश 3

Specification Document।विशिष्टता दस्तावेज़

Buyer BOQ Document | क्रेना विज्ञोक्न स्तावेज

Storekeeper NRIGRIHMS, Shillong-793018

Fiche Dr

STORE

Kyps

Compliance of BOQ Specification And Supporting Document बिओक्यू विशिष्टता और सहायक दस्तावेज़ का अनुपालन Note | বিৰুদ্ধে : Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies. Specification | विनिर्देश 4 Specification Document | विशिष्टता दस्तावेज Buyer BOQ Document | क्रेता बीओक्यू दस्तावेज Compliance of BOQ Specification And Supporting Document |बीओक्यू विशिष्टता और सहायक दस्तावेज़ का अनुपालन Note | टिप्पणी:: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies. Specification | विनिर्देश 5 Specification Document। विशिष्टता दस्तावेज Buyer BOQ Document | क्रेता बीओक्यू दस्तावेज Compliance of BOQ Specification And Supporting Document |बीओक्यू विशिष्टता और सहायक दस्तावेज़ का अनुपालन Note | टिप्पणी:: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies. Specification | विनिर्देश 6 Specification Document | विशिष्टता दस्तावेज Buyer BOQ Document | क्रेता बीओक्यू दस्तावेज Compliance of BOQ Specification And Supporting Document बिओक्यू विशिष्टता और सहायक दस्तावेज़ का अनुपालन Note दिप्पणी:: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies. Specification | विनिर्देश 7 Specification Document | विशिष्टता दस्तावेज Buyer BOQ Document | क्रेता बीओक्यू दस्तावेज STORE Compliance of BOQ Specification And Supporting Document बिओक्यू विशिष्टता और सहायक दस्तावेज का अनुपालन SHILLONG. WEIGRIHMS. Note | टिप्पणी:: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine a

being sourced from an authorized dist it work dealer channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

NEIGRIHMS, Shillowg-793018

Specification | विनिर्देश 8

Specification Document | विशिष्टता दस्तावेज

Buyer BOQ Document | क्रेता बीओक्यू दस्तावेज

Compliance of BOQ Specification And Supporting Document|बीओक्यू विशिष्टता और सहायक दस्तावेज़ का अनुपालन

Note | टिप्पणी:: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

Specification | विनिर्देश 9

Specification Document | विशिष्टता दस्तावेज़

Buyer BOQ Document | क्रेता बीओक्यू दस्तावेज

Compliance of BOQ Specification And Supporting Document |बीओक्यू विशिष्टता और सहायक दस्तावेज़ का अनुपालन

Note | टिप्पणी:: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

Specification | विनिर्देश 10

Specification Document | विशिष्टता दस्तावेज़

Buyer BOQ Document | क्रेता बीओक्यू दस्तावेज़

Compliance of BOQ Specification And Supporting Document | बीओक्यू विशिष्टता और सहायक दस्तावेज़ का अनुपालन

Note | टिप्पणी:: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

Specification | विनिर्देश 11

Specification Document | विशिष्टता दस्तावेज

Buyer BOQ Document | क्रेता बीओक्यू दस्तावेज

Compliance of BOQ Specification And Supporting Document बिओक्यू विशिष्टता और सहायक दस्तावेज़ का अनुपालन

Note | टिप्पणी:: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

NEIGRIHMO, Sundoug-793018

CENTRAL STORE
CENTRAL STORE
CHICAGO
CENTRAL STORE
CENTRAL STORE
CENTRAL STORE
CENTRAL STORE
CENTRAL STORE

Specification | विनिदेश 12

Specification Document | विशिष्टता दस्तावेज

Buyer BOQ Document | क्रेता बीओक्यू दस्तावेज

Compliance of BOQ Specification And Supporting Document बिओक्यू विशिष्टता और सहायक दस्तावेज़ का अनुपालन

Note िटप्पणी:: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

Corrigendum। शुद्धिपत्र

1. Extended Upto | तक बढाया गया : 2022-10-20 09:00:00

Terms and Conditions | नियम और शर्तें

- 1. General Terms and Conditions-
- 1.1 This contract is governed by the General Terms and Conditions, conditions stipulated to this Product/Service as provided in the Marketplace.
- 1.2 This Contract between the Seller and the Buyer, is for the supply of the Goods and/ or Services, detailed in the schedule above, in accordance with the General Terms and Conditions (GTC) unless otherwise superseded by Goods / Services specific Special Terms and Conditions (STC) and/ or BID/Reverse Auction Additional Terms and Conditions (ATC), as applicable
- 2. Buyer Added Bid Specific Terms and Conditions-
- 2.1 Experience Certificate for the supply of the same to any Govt/ PSU/ any renowned private organisation along with Supply/ Purchase Order.
- 2.2 If the agency is registered under MSME or NSIC, then EMD exemption certificate needs to be enclosed.
- 2.3 Make in India specific authorisation certificate needs to be enclosed.

2.4 Generic.

OPTION CLAUSE: The Purchaser reserves the right to increase or decrease the quantity to be ordered up to 50 percent of bid quantity at the time of placement of contract. The purchaser also reserves the right to increase the ordered quantity by up to 50% of the contracted quantity during the currency of the contract at the contracted rates. Bidders are bound to accept the orders accordingly.

2.5 Generic

Bidders are advised to check applicable GST on their own before quoting. Buyer will not take any responsibility in this regards. GST reimbursement will be as per actuals or as per applicable rates (whichever is lower), subject to the maximum of quoted GST %.

2.6 Generic

Experience Criteria: The Bidder or its OEM {themselves or through reseller(s)} should have regularly, manufactured and supplied same or similar Category Products to any Central / State Govt Organization / PSU / Public Listed Company for 3 years before the bid opening date. Copies of relevant contracts to be submitted along with bid in support of having supplied some quantity during each of the year. In case of bunch bids, the primary product having highest value should meet this criterion.

2.7 Generic.

Installation, Commissioning, Testing, Configuration, Training (if any - which ever is applicable as per scope of supply) is to be carried out by OEM / OEM Certified resource or OEM authorised Reseller.

2.8 OEM.

IMPORTED PRODUCTS: In case of imported products, OEM or Authorized Seller of OEM should have a registered office in India to provide after sales service support in India. The certificate to this effect should be submitted.

2.9 Certificates.

Bidder's offer is liable to be rejected if they don't upload any of the certificates / documents sought in the Bid document, ATC and Corrigendum if any.

2.10 Warranty

Warranty period of the supplied products shall be 2 years from the date of final acceptance of goods or after completion of installation, commissioning & testing of goods (if included in the scope of supply), at consignee location. OEM Warranty certificates must be submitted by Successful Bidder at the time of delivery of Goods. The seller should guarantee the rectification of goods in case of any break down during the guarantee period. Seller should have well established Installation, Commissioning, Training, Troubleshooting and Maintenance Service group in INDIA for attending the after sales service. Details of Service Centres near consignee destinations are to be uploaded along with the bid.

Price Offered for Spares / Consumables | पुर्जो / उपभोग्य सामग्रियों के लिए प्रस्तावित मूल्य:

MRICD IHM. .. D. ... 193018

Price Offered for Spares / Consumables Document link | पुर्जो / उपभोग्य सामग्रियों के दस्तावेज़ लिक के लिए प्रस्तावित मृल्य

Note: This is system generated file. No signature is required. Print out of this document is not valid for payment/ transaction purpose.

Film Dr

MEIGRIHMS, SHILLONG